B =T KE
e e R R
e LT PHAE ) T AT

INFAAR T 1 pNELR
N 32
Tal— TI = HNT—H
Hfrtz [ERANE| ¢ a— 24
A DO AR K [B]fiE 2 — R
5 g e A A — b HiE, 1502m
T 4=y a s 1213m
ks d=bry Hi € 2 A 289m
RET A — 9 2No. SAJ25-GS-50/91
1AH 2 KH
a— Ay H— EH O OAE a—AkyH— INEE
AIEH - A - A AIEHE - A - TN
ISR - B - AR ISR - B - e
ISR - C — e ISR - C -~ AR
JiARGE 43(43) A K — 9:15 TR %L 42(41) A K — R 12:00
Rige = EE Medium KA = EE Hard
AR—F/T 4=y V2 KR -7.1C / -6.0°C A —bF/T 4=y a R -5.6C / -3.9C
F=890
AL Ah=] =N B 1R 2A&XH & 7 1—x
No No K4 B 4 1L 155 I (S i N AV
1 1 969600 kT Bt ES e 2 1:33.91 1:32.48 3:06.39
DID NOT START [1st RUN]
DID NOT FINISH [1st RUN]
DISQUALIFTED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
DISQUALIFTED [2nd RUN]

2012-03-02 / I FB DX F A X —F

G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



B =T KE
e e R R
e LT PHAE ) T AT

AN AR Kl
N 32
Tal— T =N T—H
Hfrtz 76 J\HE a— 24
A DO AR K [B]fiE 2 — R
5 g e A A — b HiE, 1502m
T 4=y v a S 1213m
i EBE R Hi| % R 2 289m
AEBRAF—T 3 No. SAJ25-GS-50/91
1AH 2 KH
a— Ay H— EH O OAE a—AkyH— INEE
AIEH - A - A AIEHE - A - TN
ISR - B - AR ISR - B - e
ISR - C — e ISR - C -~ AR
JiARGE 43(43) A K — 9:15 TR %L 42(41) A K — R 12:00
Rige = EE Medium KA = EE Hard
AR—F/T 4=y V2 KR -7.1C / -6.0°C A —bF/T 4=y a R -5.6C / -3.9C
F=890
AL Ah=] =N B 1R 2A&XH & 7 1—x
No No K4 B 4 Wg M B R R R RA b
1 6 964874 /NEBE  pEfE 2¥U v b 4 1:24.57 1:24.04 2:48.61
2 10 959497 K AR R RV 4 1:42.63 1:36.06 3:18.69
3 8 970181 %1 HEA R RV 3 1:54.95 1:51.89 3:46.84
4 9 964871 AkEF A YR 2:02.90 1:51.11 3:54.01
DID NOT START [1st RUN]
7 [L R YR BR N RV 3

DID NOT FINISH [1st RUN]
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
DISQUALIFIED [2nd RUN]

2012-03-02 / I FB DX F A X —F

G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



B =T KE
e e R R
e LT PHAE ) T AT

INEE AR Kl
INFAETR
Yal)— FTIT = HNT—H
Hfrtz [ERANE| ¢ a— 24
B A DO AR K [B]fiE 2 — R
5 i e A A — b HiE, 1502m
T 4= a s 1213m
i EBE R Hi| % R 2 289m
AEBRAF—T 3 No. SAJ25-GS-50/91
1AH 2 KH
a— Ay H— TH A& a—AkyH— INEE
AiEH - A - A AiEH - A - TNy
ISR - B - AR ISR - B - e
HiAESR - C - e ISR - C -~ AR
TR 4K 43(43) A K — N 9:15 Ji Ao 42(41) A B — R 12:00
PN E- E4 Medium PN E- E4 Hard
AR—K/T 4=y v 2 KR -7.1C / -6.0°C A —bF/T 4=y a R -5.6C / -3.9C
F=890
NEAL AF—} =N B - ILARH 2A4KH & i L—X
No No K4 B 4 1S TR TR 1 P AV
1 21 A K AT 4 6 1:25.68 1:26.18 2:51.86
2 22 973560 fx ARHERE W, 6 1:27.03 1:26.50 2:53.53
3 20 969598 thikt A3} LiFh 6 1:29.32 1:29.31 2:58.63
4 16 953561 [MME 1% R )T 5 6 1:32.32 1:27.80 3:00.12
5 15 947429  Ey HE YR 1:32.22 1:28.78 3:01.00
6 17 950987 HEHK URIK XKL 5 1:33.16 1:31.37 3:04.53
7 18 950989 FEF —.» AN 2 1:36.35 1:34.54 3:10.89
DID NOT START [1st RUN]
14 952299 /Mg s 7T N A 5
19 953400 [LZRFE AR AN 2 5
DID NOT FINTSH [1st RUN]
DISQUALIFTED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINTSH [2nd RUN]
DISQUALIFIED [2nd RUN]
2012-03-02 / 1FBD X TR F—i G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



B =T KE
e e R R
e LT PHAE ) T AT

Val—

Btz
5 i e
BHEE R Hilg %

1AKH

a—2At X — S
ISR - A - A
ISR - B - AR
ISR - C -~ e

JiARGE 43(43)
RAgE E EH

2
o

A S — | E[H]

PN R
IR R

T = HNT—H
o — 2%

A A — NS

T 4=y a MR
R 2
AETHF— 3 No.

2 KB

a—RAt vy H— NE -
AIESR - A - TNy
ISR - B - e,
ISR - C -~ AR

9:15 TR %L 42(41)

Fr DA KA = — 2
1502m
1213m

289m
SAJ25-GS-50/91

A A — RIREE] 12:00
Medium KAz ES EH Hard

AR—F/T 4=y V2 KR -7.1C / -6.0°C A —bF/T 4=y a Rk -5.6C / -3.9C
F=890
AL Ah=] =N B - 1K 2A&XH & 7 1—2x
No No K4 B 4 Wg M B R R R RA b
1 153 953429 & ZEJ YMCA 3 1:11.52 1:12.46 2:23.98
2 154 953866 /IR BN T A N— 3 1:11.74 1:14.80 2:26.54
3 163 951549 iU K BRI 1 1:13.74 1:13.40 2:27.14
4 161 951548 1L [ERE BRI 3 1:14.70 1:14.07 2:28.77
5 155 940815 AHJI| [Eik )T S5 2 1:16.36 1:16.93 2:33.29
6 160 959086 YN FERE R RV 2 1:21.52 1:21.06 2:42.58
7 156 958418 JLO HA AT 4 2 1:21.06 1:21.69 2:42.75
8 158 953549 M BE —E= 2 1:23.73 1:23.70 2:47.43
9 159 965367 FEi  AETR AT 4 1:25.03 1:25.29 2:50.32
DID NOT START [1st RUN]
157 939760 &S FRvE R RV
DID NOT FINTSH [1st RUN]
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINTSH [2nd RUN]
162 971408 ¢ B Doing 1
DISQUALIFIED [2nd RUN]
2012-03-02 / 1FBD X TR F—i G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



B =T KE
e e R R
e LT PHAE ) T AT

= PN
N 32
Tal— T =N T—H
Hfrtz [ERANE| ¢ a— 24
K DA K A5 = — A
5 g e A A — b HiE, 1502m
T 4=y a s 1213m
ks d=bry Hi € 2 A 289m
RET A — 9 2No. SAJ25-GS-50/91
1AH 2 KH
a— Ay H— EH O OAE a—AkyH— INEE
AIEH - A - A AIEHE - A - TN
ISR - B - AR ISR - B - e
ISR - C — e ISR - C -~ AR
JiARGE 43(43) A K — 9:15 TR %L 42(41) A K — R 12:00
Rige = EE Medium KA = EE Hard
AR—F/T 4=y V2 KR -7.1C / -6.0°C A —bF/T 4=y a R -5.6C / -3.9C
F=890
NI Ap—=b -b BEE 1R 2A&XH & 7 1—x
No No K4 B 4 1L 155 I (S i N AV
1 167 951563 HKAJFEE{EE ALY 1:16.73 1:16.43 2:33.16
DID NOT START [1st RUN]
168 949713 HEBEAKMA LS 2
DID NOT FINISH [1st RUN]
DISQUALIFTED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
DISQUALIFIED [2nd RUN]
2012-03-02 / 1FBD X TR F—i G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO
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